
 

4 NH t 50 4 NO t 6h20
3 25g 3.50g

a What is the limiting
reagent 02

T I mo l

0.19 mol3.25g NHYM.gg

zNHs3.50gX2
ztTgmo O.lolam

NH Oe
O 8 1.2

0.19 0.11

OI I 7 0.57



b How many grams of No

ace formed

o.in

l nTi iIi
2.64g NO formed



If 4.95g of ethylene
Cutty are combusted with

3 25g of oxygen

a what is the limiting
reagent Or

cute t 302 22 Cont Zhao
4 95g 3.25g

4.95g Yzjj 018m01
Catty

I not
g 0.10 Mol3 25 g 02132g 02

Or



b How many grams of

CO2 are formed

lineo.com

4zmoi
2.93 g CO2

c How
many grams of

the excess reagent
remain at the end
of the reaction

O.br

j mooYH4 0.033 Mol
city used



Mols Cutty j mots CzHyy
0.18 mots 0.033 mots

0.147 mob unused

O
147molsc.at

4

lmolCzHy 4.12g
Cutty


